\ 1

| Ten.: +7(495)763-9683 e-mai

000 "®OPCTEX" © Bce npasa 3awjyLieHbl

info@forsteh.ru caiit: www.forsteh.ru

NPUMEHEHUIA

(D ROTOFLUX FOR HIGH SPEED APPLICATIONS (ID ROTOFLUX A1 BbICOKOCKOPOCTHbIX

Union installation

75| /| 0007

M16 x 1°

VIHCTPYKUWM 110 MOHTaXy

e

Olasw]

0,8 x 30°

Coolant

COX

A10 P> 40 bar =580PS!

B10 B 70 bar =1015PSI

A08 P> 100 bar = 1.450 PS|

B08 > 100 bar = 1.450 PSI

120°C = 248°F 120°C = 248°F 120°C =248°F 120°C =248°F
A10-3/8" B10-3/8" A08-1/3" B08-1/4"
Gl 10.000 15.000 15.000 20.000

(D ROTOFLUX FOR HIGH SPEED APPLICATIONS (1) POTALIMOHHBIE COE[AVHEHNA ROTOFLUX

ONA BbICOKO CKOPOCTU

1 PASSAGE, SIZES 1/4" AND 3/g"

The unions of the models A and B are used for the passage of cooolant
through the machine tool spindles rotating at high speed. Well balanced seal
assemblies model D, in tungsten carbide against tungsten carbide allow a low
friction torque and long life even with a poor filtration of the coolant. Models
A08 and B08, very short, are provided with a central spring. Do not use the

unions at max application limis without consulting ROTOFLUX.

11POXO[} PASMEPOM 2" U1 3¢

W3penua mogenein A n B ucnonb3yiorca ana npoxoxpenna COX uepes ocb
BPAWEHNA  OCHACTK OBOPYAOBAHWA Ha BbICOKON CKOPOCTA. XOpolo
cbanaHcMpoBaHHoe — ynnoTHeHne mogenu D, Kapbup Bonbdpama/kapbun
Bonbd)paMa NO3BONAET [OCTUrHYTb  HU3KOro K03¢¢VIL[VIQHT3 TpeHua wn
[WTeNbHbIN CPOK PaboTbl Aaxke Npu H3Kkoi dpunbtpaumn COX. Mopenn AO8 1 B
08, nmetoT HebOMbLLYHO AMIHY W LIEHTPasbHYIO MPYXIHY.

He PEeKOMeHyeTCA MCNONb30BaTb M3AENNA Ha MAKCMMaslbHbIX BO3MOXHOCTAX
MPUMEHEHA, NPeBAPUTENbHO HE MPOKOHCYNBTPOBABLLMCH CO CrieLManicTamin
ROTOFLUX.

Labyrinth to protect ball bearings

Microlapped and balanced seals

Stainless steel rotor

Spring

Tungsten carbide seal

Viton O-Ring

Vent hoie

Homep \ _ Straight through unions \
\ F oceBoro |
A B |D|E|F|G |H|T |M|Ix|Y é
A08-1302-04R M16X1,5 RH Glg" 5 108 34 18 1 5 Gl" | 17 30 03
A08-1302-05L M16X1,5 LH Glyg" 5 108 34 18 1 5 Gl" | 17 30 03
A10-1302-04R M16X1,5RH G3fg" 9 10 43 18 " 5 Gl | 17 2 0,5
A10-1302-05L M16X1,5 LH G3g" 9 110 43 18 " 5 Gl | 17 2 05
B08-1302-04R M16X1,5 RH Glg" 5 116 44 18 1" 5 Glg" | 20 24 0,6
B08-1302-05L M16X1,5 LH Gs" 5 116 44 18 1 5 Gl" | 20 24 06
B10-1302-04R M16X1,5RH G 3" 9 130 54 18 11 5 Glg" | 20 32 08
B10-1302-05L M16X1,5 LH G 3" 9 130 54 18 " 5 Glg" | 20 32 0,8
18
75 [/Joowr]
| W16 x 12 -
Union installation —
VIHCTPYKUUY 10 MOHTaXY <\> o i N F
0,8x30°
Homep } _ 90 unions }
A B [D|E|F|G|H|I|L|MIx Kﬁg
A08-1301-04R M16X1,5 RH Gg" 5 91 34 18 " 5 66 |Glg"| 17 | 03
A08-1301-05L M16X1,5 LH Gly" 5 91 34 18 " 5 66 Glg"| 17 03
A10-1301-04R M16X1,5 RH G3g" 9 10 43 18 1" 5 82 Gl | 17 05
A10-1301-05L M16X1,5 LH G3g" 9 110 43 18 " 5 82 Glg"| 17 05
B08-1301-04R M16X1,5 RH Gy" 5 101 44 18 1" 5 76 Gls"| 20 06
B08-1301-05L M16X1,5 LH Gly" 5 101 44 18 " 5 76 |Glg"| 20 | 06
B10-1301-04R M16X1,5 RH G3" 9 115 54 18 1" 5 87 G| 20 08
B10-1301-05L M16X1,5 LH G3g" 9 15 54 18 1" 5 87 Gls"| 20 08

27





